Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - 111 + EXAMINATION — SUMMER - 2018

Subject Code:3330705 Date:07-05 - 2018
Subject Name: Microprocessor and Assembly Language Programming
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol UL,
Write down the full form of ALU and ALE
ALU %l ALE of gt Sl 20Ul
MVI A, 67H is byte Instruction.
MVI A, 67H A ollese B 59Ut 8.
The power supply of 8085 s and crystal frequencyis _ Hz
8085 oll UlclR AWEl® _ wa sleed glscdll  Hz®
The total number of flags in flag register in 8085 are
8085 oll SAOL PR Ul $c SA B.
Address bus are ___ directional and Data bus are directional bus.
VIU WA W SIRARSUAA WMol 32l U SRS Y B.
List the 16 bit register of 8085 microprocessor.
CcOCY ol 16 olesll YRl allH VUL
What is an Opcode? Define it.
AUSls Ae@ 9?7 calvaul wU.
What is interrupt service routine?
gozle U™ 32lot WaA 9?
What is the purpose of segment register in 80867
C0CS HL A2 YR oll GUAllaL 9 B?
Define pipelining.
wWeUAlSe(ldl o cavaufld s
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Q.2 (@  What is de-multiplexing? Explain in details.
us.? () S Aellol Med 94?7 AUAl

OR
(@) Define bit, byte, word and Instruction

() cavdl W : ofle,ouse,dd ual s s2et
(b)  Explain the bus organization of 8085 microprocessor.

(M) COCU of oy }I[ollesFaUot UM
OR
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(b)  Draw the timing diagram of instruction MOV C,D 03
(W) 652t MOV C,D ol 2tssHlol stauoun 1R\ 03

(c) Write a program to add two 16 bit numbers 4512h and 5469h and the store 04
result in reg. B and reg. C

(5) A 16 olle oll oloR ¥UAR WA U¥SE oll AR 531 UIlQUH B Aol C 0¥

HLRR sA
OR
(c) Write a Program to Multiply 23h and 45h and store result in reg. B 04
(5) 23 ol 45 oll JJRUSIR sclloll YLoAUMH AU, 0¥
(d) List and explain different addressing mode of 8085. 04
(5) cocu all yel-gel Aglllol Ms eallal wal YA 0¥
R
(d) Classify instruction set of 8085 and e>c<)plain any one instruction of each 04
category.
(5)  cocU ol 8252l g 5A U €35 329130 ofl 58 As S5l 0¥
U
Q.3 (@  Draw the pin Diagram of 8085 03
Y3 () cocu ol Ulot stauoun R 03
OR
(@  List the register available in 8085 and explain in brief. 03
(AU)  COCU Hloll kw2 £l Aal g5 ML AUl 03
(b)  Draw the timing diagram of memory write cycle. 03
(W)  Memory write cycle oll 2tesH{{oL stauaum €lR\. 03
OR
(b)  Explain T-state, Machine cycle and Instruction cycle 03
(W) AMscll: T-state, Machine cycle and Instruction cycle 03
(c) Explain the segment register of 8086 in details 04
(8) COCS oll A2 YR o raochl)eRawcn. 0¥
(c) Draw the block diagram of 8086 and explain each block in brief. 04
() ¢0CS all 6ells SLRAUH Rl Aol €8 Galls g5HL AMXAl. 0¥
(d)  Explain concept of pipelining in details. 04
(s)  wsucAse{lal [Qatdar dHstaAl. 0¥
OR
(d)  Explain control flag of 8086 microprocessor 04
(S)  ¢OCS oll 52l $AdL (A UMM A 0¥
Q4 (@ What is an interrupt? List all the interrupt signals of 8085. 03
Y ¥ () 8ol Aed Y? CocU ol vl Bole Rlete galldl. 03
OR
(@  What is priority? Explain in details. 03
@) URARLE Aed 9? [Qotdar dHestAl. 03
(b)  Write a program to generate time delay of 2ms. Show the calculation. 04

Assume clock frequency = 5Mhz
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(¢)

(b)

(¢)
(c)
(8)
(a)

()
(b)

(¢)
(©)

(8)
(d)

(S)

2 ms ol 2leH SlA sl 12 ol YU cull. aLd?l ealdl. sAls

Algdl = 5Mhz w2,

OR
Explain in details the following instruction (1) LHLD (2) DAD D

8@ 52et U (1) LHLD (2) DAD D
Draw the block diagram of 8085 microprocessor and explain each blocks
COCU oll 6Als SLAUH ERL Aol €8 GeAls UM,

Explain RIM and SIM

ALl AH(RIM) Al {lH(SIM)

List the function of BIU and EU

BIU ol EU oll stal eallcll Aol qHxwcll
Explain fetching operation in details.

%2flo1 A UR2Let (Aotcdalr UM

Write the addressing mode of (1) MOV AM (2) STA 2000 (3)MVI D,BAH
(4) STC (5) MOV AC (6) LDAX B

Aot As g2l (1) MOV AM (2) STA 2000 (3)MVI D,BAH
(4) STC (5) MOV AC (6) LDAX B
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